Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Support Us & get more exam wise free study material, videos, pdfs, current affairs, job
alerts, results join our complete exam wise social network from below links :-

TELEGRAM OFFICIAL CHANNEL Telegram.me/ExamsCart

FACEBOOK OFFICIAL PAGE FB.com/ExamsCartOfficial

TWITTER OFFICIAL HANDLE Twitter.com/Exams Cart

INSTAGRAM OFFICIAL PAGE Instagram.com/Exams Cart

YOUTUBE OFFICIAL CHANNEL https://www.youtube.com/channel/UCYar18Ja2bri
D8tBOmMk5Nsw?sub confirmation=1

Please Subscribe, Join& Like Our Above Social Network.

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On



https://telegram.me/ExamsCart
https://www.facebook.com/ExamsCartOfficial
https://twitter.com/Exams_cart
https://www.instagram.com/Exams_Cart/
https://www.youtube.com/channel/UCYar18Ja2briD8tBOmk5Nsw?sub_confirmation=1
https://www.youtube.com/channel/UCYar18Ja2briD8tBOmk5Nsw?sub_confirmation=1

Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Free Current Affairs Daily, Monthly, Yearly Pdfs, GK
Tricks, General Studies Free PDFs

Click Here To Download

CURRENT
AFFAIRS
GK GS

#Daily Updated

Vocal For Local

Daily Current Affairs
GK Tricks for Exams
Monthly Current Affairs
Current Affairs Quiz

Gk Capsules

Short Tricks

Economy

History

Geography

Polity

General Awareness
Art & Culture

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On



https://bit.ly/CurrentAffairsGKGS
https://bit.ly/CurrentAffairsGKGS

Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Alphanumeric Series Questions With solutions

Directions (1-5): In each question below is given a group of letters followed by four
combinations of digits/symbols given in (A), (B), (C) and (D). You have to find out which of
the combinations correctly represents the group of digits based on the rules and mark the
answer accordingly. If none of the combinations correctly represents the group of letters,
mark (E) as your answer.

(i) If the first two letters are vowels, the codes for first and last letters are to be
interchanged.

(1) If the first letter is a consonant, the codes for the second and third letters are to be
interchanged.

(iii) If the last letter is a vowel then the second letter is to be coded as the code for the
vowel.

Letter O P M| R |BI[UN|H|KID I|L|G

Code | @|7|0|©|3|#|*[2(9|8|%|6|S

1. UEPMOQ
A) 3NT0@#
B) 4770'#
C) 4N7T0@#
D) 4"700#
E) None of these

View Answer

Option C

Explanation:

The given number satisfies rule (i)

2. OPHDLU
A) #@286#

B) @#286#

C) @#246

D) @#286

E) None of these

View Answer

Option B

Explanation:

The given number satisfies rule (iii)

3. MIRKNQ
A) OO#9*4
B) 90%9*4

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

C) 0©%9*4
D) O©%9@4
E) None of these

View Answer

Option C

Explanation:

The given number satisfies rule (ii)

4. HOLUIB
A) 26@!%3

B) 26"#%3

C) 26@#%7

D) 24@#%3

E) None of these

View Answer

Option E

Explanation:

The given number satisfies rule (ii)
26 @#%3

5. OINRBK
A) 9@*C©3@

B) 9%603@

C) 7%*03@

D) 9%*©3@

E) None of these

View Answer

Option D

Explanation:

The given number satisfies rule (i)

Directions (6-10): Study the following arrangement and answer questions given:
4 8 @ B D E!" Y Il 7* K W 6 A L5#9 0 2 U
© 3 N ( M $

6. Which of the following is the 9th letter to the left of the 16th letter from the right
end?

A) E

B) B

C)D

D) *

E)@

View Answer
Option C
Left to right = 16+9 = 25th from right
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7. How many such letters are there in the above arrangement each of which is
immediately preceded by a symbol and immediately followed by a consonant?

A) Four

B) Three

C) None

D) One

E) Five

View Answer
Option B
Solution:
B, K, and M

8. Complete the series: 48V (BD !©O" 27* ?
A) K#5

B) W95

C) W#5

D) WO#

E) K9#

View Answer

Option C

Solution:

43V — 4=first element, $= first element from last, V = previous letter of $

(BD — ( = leaving one letter from V, ( = 4th element from last, B= 4th element from
starting, D = next letter to B

IO" — | = leaving one letter from D, ! = 7th from starting, © = 7th from last, = previous
to ©

27* — 2 = leaving one letter from #, 2 = 10th from last, 7 = 10th from starting, * = next to
-

9. How many such numbers are there each of which is immediately preceded by a
symbol?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option C
Solution:
9,and 3

10. Four of the five are alike in a certain way based on arrangement, which does not
belong to the group?

A) KW*

B) BD@

C) MV(

D) V$(

E) ©3*
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View Answer
Option D

Directions (1-5): Study the following arrangement and answer questions given:
F N $ 3 2 *W E % ! B M P ( A v ~ 9
F + S Uu # L T 6

1. If the first fifteen elements in the above passage sequence are written in reverse order
then which of the following will be fifteenth from the right end?
A) $
B) 3
C)P
D) (
E)2

View Answer
Option B

2. If the above sequence is written in reverse order then which of the following will be
seventh to the right of sixteenth element from the right end?

A)!

B) A

C)E

D) %

E) ~

View Answer

Option D

16-7 = 9th from right end

So in given series, 9th from left end will be 9th from right end in reverse series

3. What should come in place of question mark in the following on the basis of the
above sequence ?

32% : WE* P(M:V~A %IE : ?
A) P(M

B) AV(

C) BM!

D) Other than given in options.

E) MPB

View Answer
Option E
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4, How many such numbers are there in the above sequence, each of which is
immediately preceeded by a consonant and immediately followed by a symbol?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option A

5. Which of the following is fourth to the left of sixteenth element from the left?
A) ~

B) P

C) (

D) %

E)M

View Answer
Option E

Directions (6-10): Study the following arrangement and answer questions given:
7 4Y * # D E 9 L 0 1 & ~ M B ) 6 S A
X 3 I + < = G J

6. Which of the following is the 5th letter to the right of the 16th letter from the right
end?

A) &

B) #

C)6

D)S

E))

View Answer

Option C

Solution:

Right to right = 16-5 = 11th from right

7. How many such symbols are there in the above arrangement each of which is
immediately preceded by a consonant and immediately followed by a number?

A) Four

B) Three

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

C) None
D) One
E) Five

View Answer
Option D
Only one -)

8. Which of the following is the 9th letter to the left of the 18th letter from the left end?
A)9
B)L
C)o0
D) ~
E) &

View Answer

Option B

Solution:

Left to left = 18-9 = 9th from left

9. How many such numbers are there each of which is immediately preceded by a
consonant?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option C
Solution:
Oand 3

10. Four of the five are alike in a certain way based on arrangement, which does not
belong to the group?

A) 1&9

B) 6SM

C) 316

D) GJ+

E) OL#

View Answer
Option C
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Directions (1-5): Study the following arrangement and answer questions given:
2 0 453 6 8 42517 4 8 5 6 9 3 2 0 4 7
4 5 8 9 25 7 3 1 7 4 2 90

1. Which of the following is the 9th letter to the left of the 21st letter from the right end?
A) 4
B) 8
C)6
D) 2
E)5

View Answer

Option B

Solution:

Left from Right = 21+9 = 30th from right

2. How many such 4’s are there in the above arrangement, each of which is
immediately preceded by an odd digit and immediately followed by an even digit? (0 is
neither odd nor even)

A) Four

B) Three

C) Two

D) One

E) Five

View Answer
Option C
Solution:
7 4 8,7 4 2

3. How many such 7’s are there in the above arrangement, each of which is
immediately preceded by a perfect square?

A) Four

B) Three

C) Two

D) One

E) Five

View Answer
Option B
Solution:

1 7,4 7,1 7

4, How many such &’s are there in the above arrangement, each of which is
immediately followed by a digit which has a numerical value greater than 6?

A) None

B) One

C) Two

D) Three

E) More than three
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View Answer
Option C
Solution:
5 85 7

5. If all the odd numbers are deleted from the above arrangement, then which of the
following will be 9th from the right end?

A) 2

B) 6

C)4

D)0

E)8

View Answer
Option A

Directions (6-10): Study the following arrangement and answer questions given:
R %Y# DEW3 @o0o0M! L6 * A G UZ8~"™» V & S
7 O H 12 $ B 1)

6. Which of the following is the 5th letter to the right of the 16th letter from the right
end?

A)S

B) ~

C)V

D) &

E)*

View Answer

Option D

Solution:

Right to right = 16-5 = 11th from right

7. How many such symbols are there in the above arrangement each of which is
immediately preceded by a consonant and immediately followed by a number?

A) Four

B) Three

C) None

D) One

E) Five

View Answer
Option C

8. Which of the following is the 9th letter to the left of the 18th letter from the left end?
A) @

B)O

C)M

D) 8

E) &
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View Answer

Option B

Solution:

Left to left = 18-9 = 9th from left

9. How many such numbers are there each of which is immediately preceded by a
consonant?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option E
Solution:
3,6,7,1

10. Four of the five are alike in a certain way based on arrangement, which does not
belong to the group?

A) @3!

B) GA"

C) OS2

D) D#3

E) 8U&

View Answer
Option C

Directions (1-5): In each question below is given a group of letters followed by four
combinations of digits/symbols given in (A), (B), (C) and (D). You have to find out
which of the combinations correctly represents the group of digits based on the rules
and mark the answer accordingly. If none of the combinations correctly represents
the group of letters, mark (E) as your answer.

(i) If the first letter is a vowel and the last letter is a consonant both are to be coded as *.

(ii) If the first letter is a consonant and the last letter is a vowel their codes are to be
interchanged.

(iii) If both the first and the last letters are vowels both are to be coded as the first letter.

Letter| P M|K|E|A|1|Z|T|R|U|B|F|N|V|D
Code |$ |3 |1 |4|@|2|5|@|8 |7 |! |6 |%|#]|9

IFNVDE

A) 26%#92

B) 46%#92

C) 46%#94

D) *%#9*

E) None of these
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View Answer
Option A

Solution:

From rule (iii)

2. KEIMPD
A) 942331

B) 14233%9

C) 9423%9

D) 1423%1

E) None of these

View Answer
Option B
Solution:
No rule is implied here. So all codes written as it is

3. UBTIZN
A) 71©25%

B) %!©257

C) *1©25*

D) 7'©257

E) None of these

View Answer
Option C

Solution:

From rule (i)

4. BAEFNP
A) |@46%!

B) $!46%)!

C) *@46%*

D) $@46%$

E) None of these

View Answer
Option E
Solution:
No rule is implied here. So all codes written as it is
BAEFNP becomes — |@46%$%
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5. RKPZFI
A) 81$562

B) 81$568

C) 21$562

D) 21$568

E) None of these

View Answer
Option D

Solution:

From rule (ii)

Directions (6-10): Study the following arrangement and answer questions given:
P7T@IRW39TE$4HD5S5OMA2%B*8!UQNI1IF6#KYV

6. How many such consonants are there in the above arrangement, each of which is
immediately preceded by a consonant and immediately followed by a symbol?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option A

7. If all the symbols are dropped from the above arrangement, which of the following
will be the 15th from the left end?

A) A

B)5

C)D

D) 2

E) None of these

View Answer
Option A

8. How many such numbers are there in the above arrangement, each of which is
immediately preceded by a symbol and immediately followed by a consonant?

A) None

B) One
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C) Two
D) Three
E) More than three

View Answer
Option B

9. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) B*2

B) QN!

C) 39R

D) 6FK

E) %BA

View Answer
Option D

10.  Which of the following is the 9th to the right of the 22nd from the right end of the
above arrangement?

A)H

B) #

C)B

D) @

E) None of these

View Answer
Option C

Directions (1-5): Study the following arrangement and answer questions given:
( F E ~ 6 2 % S A 8 B ) *1 L O o @ W U
$ 3 ~ P 4 C V #

1. How many such vowels are there in the above arrangement, each of which is
immediately followed by a symbol and not preceded by a letter?
A) Four
B) Three
C) Two
D) One
E) None
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View Answer
Option E

2, What is the sum of all numbers which are immediately preceded by a symbol?
A) There are no such numbers

B) 10

C) 12

D)9

E)11

View Answer
Option B

Explanation:

6+1+3 =10

3. What will come in place of questions mark (?) based on the above arrangement?
3U» $W3 U@$ WoU ?

A) gOW

B) Other than those given in options

C) @9W

D) @OW

E) UaW

View Answer

Option D

4. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) (#V

B) EC4

C) 2"P

D) S$U

E) *OL

View Answer

Option C

5. Which of the following is the 9th to the left of the 17th from the left end of the
above arrangement?
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A @
B)S
0o
D) %
E) O

View Answer
Option B
Explanation:
Left of left — 17-9 = 8th from left = S

Directions (6-10): Study the following arrangement and answer questions
given:

K J 2 ~ U A S 3 €C 7 $$ 9 L # D O 8 X

!
I % N P 4 E *M + W

6. How many such numbers are there in the above arrangement, each of which is
immediately preceded by a consonant and immediately followed by a vowel?

A) One

B) Three

C) Two

D) Five

E) None

View Answer
Option A
Only4 —P 4 E

7. How many such consonants are there in the above arrangement, each of which is
immediately preceded by a symbol and immediately followed by a letter?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer

Option C
Explanation:
D,N

8. Which of the following is the 8th to the right of the 19th from the right end of the
above arrangement?
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A)%
B) #
08
D)X
E) None of these

View Answer
Option D
Explanation:
Right to right = 19-8=11th from right = X

9. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) $97

B) UI*

C) XI8

D) +WM

E) C7S

View Answer
Option E

10.  Which of the following is the 5th to the left of the 13th from the right end of the
above arrangement?

A)7

B)9

C)S

D) $

E)!

View Answer
Option D
Explanation:
Left of right = 13+5=18th from right

Directions (1-5): In each question below is given a group of digits followed by four
combinations of digits/symbols given in (A), (B), (C) and (D). You have to find out which of
the combinations correctly represents the group of digits based on the rules and mark the
answer accordingly. If none of the combinations correctly represents the group of letters,
mark (E) as your answer.

(i) If the first digit is odd and last is even, then interchange the codes for both digits

(i) If there is a digit which is getting repeated in the given number, then code that digit as
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the code of 5

(i) If the third digit is followed by an even number and is preceded by an odd number, then
skip its code.

(iv) If the middle digit is odd then interchange the codes of middle digit and last number.

(v) O is neither odd nor even

Letter| O | 1 | 2 4 8

Code | E | @ O

1. 53678
A) #ODH!
B) ©!DH#
C) |©DH#
D) |OHD#
E) None of these

View Answer

Option C

Solution:

The given number satisfies rule (i)

2. 12375

A) @QLOH#

B) @L#HO

C) @H#LO

D) @L!HO

E) None of these

View Answer

Option B

Solution:

The given number satisfies rule (iv)

3. 36014

A) ODE@O

B) OED@®

C) ODE%©

D) ODE@®©

E) None of these

View Answer

Option D

Solution:

The given number satisfies rule (i)

4. 81624
A) |@LDO
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B) '@DLO

C) !@LO

D) l@OL

E) None of these

View Answer

Option C

Solution:

The given number satisfies rule (iii)

5. 60456

A) *O#H#

B) #EO##

C) *O#tH#

D) OBO# #

E) None of these

View Answer

Option B

Solution:

The given number satisfies rule (ii)

Directions (6-10): Study the following arrangement and answer questions given:
H N4 & TEJ3 (@ 5R1*J S 2 % 9 M 6 AL O
# V. U 7 |

1. Which of the following is the 6th letter to the right of the 20th letter from the right end?
A)J
B) S
C)2
D) %
E)@

View Answer

Option B

Solution:

Right to right = 20-6 = 14th from right

2. How many such numbers are there in the above arrangement each of which is
immediately preceded by a symbol and immediately followed by a letter?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option C
Solution:
5,and 9
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3. Complete the series: T&3 (35 R5* J*27?
A) %26

B) %29

C) %SM

D) %2M

E) None of these

View Answer
Option D

4, How many such consonants are there each of which is immediately preceded by a
number?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option C
Solution:

R and M

5. Four of the five are alike in a certain way based on arrangement, which does not
belong to the group?

A) 4T&

B) 51R

C) *SJ

D) 29M

E) OV#

View Answer
Option D

Directions (1-5): Study the following arrangement and answer questions given:
J % K 7D E$ 49HI3(@AMS8*FQ OU+ &BP
wW! 2

How many such vowels are there in the above arrangement, each of which is
immediately followed by a symbol?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer
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Option C
Explanation:
E,U

2. If all the symbols are dropped from the above arrangement, how many such
numbers will be there in the above arrangement, each of which is immediately followed by
a consonant?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer

Option B
Explanation:
7,9, 8

3. What will come in place of questions mark (?) based on the above arrangement?
DK$ E74 $D9 4EH ?

A) 94H

B) Other than those given in options

C) H4I

D) H43

E) 981

View Answer

Option E

4. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A)K%$

B) H$(

C) U™+

D) O™+

E) P+!

View Answer
Option E
Explanation:
All options carry a letter followed by 2 symbols. Observe that the first symbol is the
symbol which is before the letter and second symbol after letter as:
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So with P should be P&!

5. Which of the following is the 6th to the left of the 17th from the left end of the
above arrangement?

A)3

B) (

COH

D)I

E)o

View Answer
Option D
Explanation:
Left of left — 17-6 = 11th from left = I

Directions (6-10): Study the following arrangement and answer questions

given:

R4 % D) A5 T I 3 # 1 W E 2 @ * 9 ~ B H O 5
'Y

6. How many such numbers are there in the above arrangement, each of which is
immediately preceded by a consonant and immediately followed by a vowel?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer
Option E

7. How many such consonants are there in the above arrangement, each of which is
immediately preceded by a number and immediately followed by a letter?

A) Four

B) Three

C) Two

D) Five
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E) None

View Answer

Option C
Explanation:
T,W

8. Which of the following is the 5th to the right of the 19th from the right end of the
above arrangement?

A)3

B) #

Ow

D)1

E) None of these

View Answer
Option D
Explanation:
Right to right = 19-5=14th from right = 1

9. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) D)4

B) 5T)

C) 1W3

D) @*2

E) HO*

View Answer
Option D

10.  Which of the following is the 8th to the left of the 9th from the right end of the
above arrangement?

A)3

B)T

O)1

D))

E)A

View Answer
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Option C
Explanation:
Left of right = 9+8=17th from right

Directions (1-5): Study the following arrangement and answer questions given:
2 D1 43%$KIT7%LAT3I8 @FG6U#VPI1E?®*9HS5

1. How many such vowels are there in the above arrangement, each of which is
immediately followed by a symbol?
A) Four
B) Three
C) Two
D) Five
E) None

View Answer
Option C
Explanation:

U, E

2. If all the numbers are dropped from the above arrangement, which of the following
will be the 10th from the right end of above arrangement?

AT

B) @

C)#

D) I

E) A

View Answer
Option A

3. What will come in place of questions mark (?) based on the above arrangement?
D4$ K7% LT3 ?

A) F6#

B) Other than those given in options

C) 8@6

D) 8F6

E) FU#

View Answer
Option D

4, Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) %7

B) D4l

C) T38

D) E9*

E) FU6
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View Answer
Option C

5. Which of the following is the 12th to the right of the 6th from the left end of the
above arrangement?

Al

B) #

C)6

D) U

E)L

View Answer
Option D

Directions (6-10): Study the following arrangement and answer questions given:
RDAKS5BI2MJENY97UZV1IWZ3H44FYS8PGES6
T G

6. How many such numbers are there in the above arrangement, each of which is
immediately preceded by a consonant and immediately followed by a vowel?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer
Option E

7. How many such consonants are there in the above arrangement, each of which is
immediately preceded by a number and immediately followed by a consonant?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer
Option B
Explanation:

M, F, T

8. Which of the following is the 6th to the right of the 19th from the right end of the
above arrangement?

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

A)5
B) Z
C)V
D)1
E) None of these

View Answer
Option C

9. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) E9J

B) Z1U

C) HW4

D) Y48

E) B2K

View Answer
Option E

10.  Which of the following is the 8th to the left of the 17th from the left end of the
above arrangement?

A) 8

B)J

C)M

D)5

E) None of these

View Answer
Option C

Directions (1-5): In each question below is given a group of digits followed by four
combinations of digits/symbols given in (A), (B), (C) and (D). You have to find out
which of the combinations correctly represents the group of digits based on the rules
and mark the answer accordingly. If none of the combinations correctly represents
the group of letters, mark (E) as your answer.

(i) If the first digit is odd and the last digit is even their codes are to be swapped

(i) If the first as well as the last digits are even, both are to be coded by the code for the first
digit.
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(iii) If the first digit is even and the last digit is odd, both are top be coded by the code for the
odd digit.

letter( 7 (0O |2 |6 8| 4 5
Code | W|@|L| S # |% Q

1. 431068
A) %FT@$#
B) %FTS@#
C) NFT@%$%
D) %FT@%$#
E) None of these

View Answer
Option C

Solution:

From rule (iii)

2. 803279
A) E@QFLWE

B) #@FLWE

C) #@FLW#

D) E@QFLW#

E) None of these

View Answer
Option A
Solution:
No rule is implied here. So all codes written as it is

3. 384695
A) FH%S$SEF

B) F#%$EQ

C) Q#%3EQ

D) Q#%S$EF

E) None of these

View Answer
Option B

Solution:

From rule (i)
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4. 584632
A) Q#%S$FL

B) L#%$FQ

C) L#%$QF

D) L#%$FQ

E) None of these

View Answer
Option D
Solution:
No rule is implied here. So all codes written as it is
BAEFNP becomes — !@46%$

5. 765984
A) WSQE#%

B) WSQE#W

C) %$QE#%

D) %$QE#L

E) None of these

View Answer
Option E

Solution:

From rule (ii)

Directions (6-10): Study the following arrangement and answer questions given:
QANSF#K7Y$C83PIT6%I9HU2RI*V5WAIL1IBDG

6. How many such consonants are there in the above arrangement, each of which is
immediately preceded by either a symbol or number but nit immediately followed by a
letter?

A) Four

B) Three

C) Two

D) Five

E) None

View Answer
Option A
Explanation:

K,YC,V
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7. If all the numbers are dropped from the above arrangement, which of the following
will be the 12th from the right end of aboev arrangement?

AT

B) H

C) %

D) |

E)*

View Answer
Option C

8. What will come in place of questions mark (?) based on the above arrangement?
1IAG *JW HI9R IP% ?

A) Y$#

B) Other than those given in options

C) 7KC

D) $J8

E) $Y3

View Answer
Option E

9. Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

A) KY#

B) %H6

C) J*R

D) NF4

E) 1DA

View Answer
Option C

10.  Which of the following is the 7th to the right of the 15th from the left end of the
above arrangement?

A)H

B) R
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C)B
D) U
E) None of these

View Answer
Option E

Directions (1-5): Study the following arrangement and answer questions given:
BL$S4#GABPXY7T%BN*S2@DM=9*5CF6

1. How many such numbers are there which are immediately followed by a symbol and
immediately preceded by letter?
A) Four
B) Two
C) None
D) One
E) Three

View Answer
Option B
Solution:
Y7%,S2@

2. If all the symbols are dropped from the above arrangement, then which is ninth
from the right end?

A)N

B) 2

C)7

D)S

E)M

View Answer

Option D

Solution:

The series become:
BLAGABPXY7NS2DM95CF6

3. If all the numbers immediately after symbols are added, what will be the sum?
A) 26
B) 20
C) 15
D) 22
E) 18
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View Answer
Option E
Solution:
4+9+5=18

4, If every fourth element in the above series from the left end is omitted then which
among the following is fourth to the right of ninth from the right end?

A)5

B) 9

C)M

D) =

E) @

View Answer

Option D

Solution:
BLI#GAPXY%BNS2@M=95CF

5. How many such vowels are there which is immediately followed by consonants
and immediately preceded by number?

A) Four

B) Two

C) None

D) One

E) Three

View Answer
Option C

Directions (6-10): Study the following arrangement and answer questions given:
E3*LJ8#R14%SA36KIMSX7BBZ@2L

6. How many such symbols are there which is immediately followed by number and
immediately followed by letter?

A) Four

B) Two

C) None

D) One

E) Three
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View Answer
Option B
Solution:
Adb6andZ@ 2

7. How many such numbers are there in the above arrangement each of which is
immediately preceded by a symbol and immediately followed by a letter ?

A) None

B) One

C) Two

D) Three

E) More than three

View Answer
Option C
Solution:
06K @2L

8. Complete the series: K9 X  66M
A) %AX

B) 4%A

C) SA%

D) 4%

E) None of these

View Answer
Option D

9. If all the numbers are dropped from the above sequence, then which element is
eleventh from the right end?

A) M

B) %

C)S

D) &

E) A

View Answer
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Option E

Solution:

The series becomes:
E*LJ#R%SAJOKMS$XBBZ@L

10.  Four of the five are alike in a certain way based on arrangement, which does not
belong to the group?

A) LJ*

B) SA%

C) K96

D) M9$%

E) BZB

View Answer
Option D
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